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ECONOMICS — GENERAL

First Paper

Full Marks : 100
Candidates are required to give their answers in their own words

as far as practicable.
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[English Version]
The figures in the margin indicate full marks.

Group - A

1. Answer any five questions : 2×5

(a) What is utility?

(b) What is the shape of unit elastic demand curve?

(c) Mention two exceptions of the law of diminishing marginal utility.

(d) What is substitute good?

(e) When is average revenue equal to marginal revenue?

(f) Give one example each of Internal Economics and External Economics.

(g) What is income elasticity of demand?

(h) What will be the shape of average fixed cost in the short run?

Answer any two questions.

2. (a) Define price elasticity of demand. Describe the difference between perfectly elastic and perfectly
inelastic demand.

(b) Explain the consumer’s equilibrium for two commodities at a given income of the consumer and
given prices of the commodities. Explain it with the help of indifference curve analysis. Show the
change in cousumer’s equilibrium position when consumer’s income increases with the prices of two
commodities remaining unchanged. (4+4)+(8+4)

3. (a) What is demand? Explain the factors determining the demand for a commodity.

(b) Write the law of demand. What are the exceptions to this law?

(c) Explain the differences between change in demand and change in quantity demanded.
(2+4)+(3+7)+4

4. (a) What is production?

(b) Explain diagrammatically the concept of total product, average product and marginal product for a
variable factor.

(c) Explain the difference between returns to scale and returns to a variable factor. 2+12+6

5. (a) Describe the difference between fixed cost and variable cost.

(b) Explain diagrammatically the relationship between average cost and marginal cost.

(c) Explain with diagram, why is the average cost curve ‘U’ shaped? 4+6+10
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Group - B

6. Answer any five questions : 2×5

(a) What is the difference between gross domestic product and gross national product?

(b) What will be the value of marginal propensity to save, when value of marginal propensity to consume
is 0·6?

(c) Mention two functions of commercial bank.

(d) What is the difference between personal income and national income?

(e) What is Development bank?

(f) What is Clearing House?

(g) What is Incidence of Tax?

(h) What is deficit budget?

Answer any two questions.

7. (a) What is the difference between national income and per capita national income?

(b) Explain the product method of measuring national income.

(c) What are the problems of measuring national income by the product method? 4+12+4

8. (a) Explain the factors determining Keynesian propensity to consume.

(b) Explain why MPC lies between ‘0’ and ‘1’.

(c) Derive the saving function from Keynesian consumption function. 10+6+4

9. (a) Explain the credit creation process of commercial bank. Mention the limitations of this process.

(b) Discuss critically Fisher’s version of Quantity Theory of Money. (8+4)+8

10. (a) What is indirect tax? Discuss the differences between direct tax and indirect tax.

(b) Explain different sources of Public Revenue.

(c) Explain the effects of Internal Public Debt. (2+6)+6+6


